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Point £ is the centmtd of A ABC. Use the given information to find the
vafue of x.
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Compiete the sentence with aiways, sometimes, or never.
27%. The median of a triangle is __?__ the perpendicular bisector...,g%i ff"‘ﬁ;’gﬁi’»,{m es
22. The altitude of a triangle is _? _ the perpendicular bisector. &}f‘, # g“ Y
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23. The medians of a triangie _ 7 _ intersect inside the triangle. g;{ ; v Eﬂ/“g

24. The altitudes of a triangle _?__ intersect inside the triange. \S{} e “’é Lot
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4. Find the length of the median CD. ] 51 LONE) |
5. Find the coordinates of E, the mid /
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Find the indicated measure.
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14, Point P is the incenter of AMEM.
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2. Point & ig the in Dnte'f of 2. ACH

& is the centroid of A BTW, RE = 4. YW = 1Z, and TV = 8. Find the fength
of the segment,
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Find the vaius of x.
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Find the value of x that makes & the incenter of the triangie. %“M = ML
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